Answer all e quesions
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{a) Soive.

(i) 2x- 18
(i) x =

fi) x=2-5
() x -

X

i} 5 - 15

(Eijx =

)]

{b] (i) Find the vaiug of { in the Iolowing expression when g - 4.2 and b - 7.

t - 12g- 58

B £ -

{if} Rearrange to make r ihe subject.
q-p-4r

0]

Same as Q1 on
draft SAMs




2  Cambury Counci asked B0 customers whal they thoughl of the services offerad &l the local leisure
cenire.
The resuits are shown in this ber charl

30

20

Frequendy

Excelent Gaod Coomild b Mol goad
miproved endaigh

The councd wenks 1o present the deia in a pie chert.

Dvaw and labed a pie chart 1o represent (he data.
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Same as Q2 on
draft SAMs




In 2008 some 20p Coins wera made with no dabe on.

Oidircary 20p Ay with no dale

{a) A 20p wih no date on & & collector's ibem.
One 200 with no date sold for £7100,

How many ordinary 20p coins would you need io pay for this 20p wilh no date?

{b) E=ch 20p coin weighs 5q.

Ciould 3n average person lift £7100 worth of orginary 20p coins?
Show any estimates and calculalions you use o decide. 4

{c) Explainwhether your nswer io {b) would change if the person lifing the coins was & chamgion
waighbifter.

[

NEW

Q3 on draft SAMs
NOTE partcis




4

Antonio works Monday, Tussday and Wednesday.

He stars work al 3.30 pm and finshes &t 10.30pm.

He nas & 30 minute break sach weekday, for which ne is not paid.
Anonio i paid £10 per Nour on Weskaays .

One wesk, he al50 wWOMS for 4 hours on Sunday.
Ha s paid S0% more on Sundays.

How much dogs Antonio eam alingether this waek?

Same as Q4 on
draft SAMs

5

Darren s3ys

T can run 100M in 19 2= conds, =0 T should be able #o run BDOm in 120 seconds.

Do youl Think that he would take more or kess than 120 seconds o run B00m?
Explain your enswar, with reference 1o any essumplions Damen has made.

NEW




& Jomakss 3 siver pendant.
She slarts with & rectanguler piece of siver.

Bam Not to scale

= 5 —=

{2} WWork cut the srea of this rectangle,

{a) on [1]

{b} Jocuts esch comer of the reciangle in the shape of 8 quaner-cincle, radius 1.om.

|

Bom Mot bo scale

|

This & &n aniarged drawing of one comer of the pendant.

"

S 5T i

T

‘Show thal the area of the pendant with nounded comers s 39.1 om? cormect by thres significant
fgures. 4]

Same as Q6 on
draft SAMs

{c] The silver pendant is 2 mm thick.

Find the volume of siver in the pendantwith rounded cormess.
Give your answer in an’.




T

PORS is & recangle.
A, B, C and D ere points on SP, PO, QR and RS respectiely.
A, B, C and D can be connected bo jorm a quadrilaberal.
The deshed line is the Fine of s ymmeatry for the dagram.

P 8 Q

Mot to scala
A —— _ C_ __
5 D R

{a) Angle ABC - 1257,

Wrile cown the size of angie ADC.

{a) Engle ADC = ... ... o 1]

(b} AP is tha same length &5 PB.

‘Work out the size of angle BCD.
Shaow yOUr reasoning clearty.

Based on Q7 on
draft SAMs

Part a removed {b) angle BCD = oooocoocoeoe. o 4]

{a) Write down the mathematical name of quadrilateral ABCD.



(a) The nth term of a sequence is given by 3n+ 5.

(b)

Explain why 21 is not a term in this sequence.

Here are the first three terms in a sequence.

1 2 4

Find two different rules for continuing this sequence and the next two terms in each case.

Mextbtwo terms .. 4]




8 Three friends, Ann {A), Bob (B) and Caroi {C), 90 on holiday ingether.

{a) They book 3 row of threa sasis on the pana.
When thay amive &l the plane they go io theirseas in @ random order.

IEg—g—p
e |

i el T

Based on Q8 on
draft SAMs

Part b changed

(i) List all the diflerent ways they could sit iogether on tha three seals _

The first one has been done. You may not need o6l in al the pichures.

:
-
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-
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=
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=
=

e yew

{if} What is the probability that Ann and Carol sit next to each other?

{iiif} What is the probebility thal Bob has a window sedt and sits nexi o Ann'?

{k] Ann, Bob and Carol have & budget of E500 1o rent & holiday apariment.
The panrment normally costs £50 per night, but they can get a 20% dscount il they book

eerly.

Calcuiate how Mamy Exira nights Mey can siay in the apartment ¥ they book eary.

{b) The apartment they stay in costs a total of £600 for the week.
They get a 30% discount.
They share the cost of the apartment equally between them.

How much will they each have to pay for the apartment?

DRAFT

(1) F=S 1

1 [ nights [4]




10 Caloulsie.

{a) 55T
] [1]
(k) VBZ5
| [1]
{c) &%
Same as Q9 on ) e -

draft SAMs

11 Ema is doing some calculations withoul 3 caliculator.
Thease e are WHong.

For each one, withou! working it out, explain how Ema could hewve known the enswer s wiong.

{a) 0.38 =026 - 0.827

Same as Q10 on

draft SAMs




12 Shinya's intemetservice provider gives Nim a.graph of Nis inteMmet uSage in the first pan of Fabruary.

K
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T Y s 1 57 v w1 Same as Q15 on

Days in Febauary

State o reasons why this greph is misleading. d raft SA M S

[

13 (a) Mia cycled 23 km, correct to the nearest km.

What is the least distance Mia could have cycled?

(b} A number x, rounded to one decimal place, is 4.7.

So the error interval for x is given by 465 < x < 4.75.

{i) A number y, rounded to two decimal places, is 4.13. Sa m e a S Q14 O n
Write down the error interval for y. d raft SA M S

TBIEY e 21
(ii) A number z, rounded to two significant figures, is 4700.

Write down the error interval for z.



14 (a) This frequency diagram summarises the number of minutes late or early Astrid’s train journey
to work was over the last 50 days.

Frequency
A

20
18
16
14
12
10

[ I = I ]

] 0 5 10 15

Minutes late

Use information from this diagram to estimate the probability that her train will be late tomorrow.

Based on Q11 on
draft SAMs

Part b is NEW




15 Leo is using these numbers to make a new number.

11 1 3

He can only use +, —, x, = and brackets to combine the numbers.

*= He cannot use any number more than once.
= He cannot use powers.
* He cannot put numbers together, e.g. he can't use 136.

What is the biggest number he can make?
Show how he can make this number.

Same as Q16 on
draft SAMs




16 18 kg of copper is mixed with 10.5kg of zinc to make an alloy.

The density of copper is S'g.n'crna_
The density of zinc is 7 g/cm®.

(a) Work out the volume of copper used in the alloy.

(b} What is the density of the alloy?

Same as Q17 on
draft SAMs

) OO 1 =1 ul 3



17 {a) (i) Sowe.
Sx+1»x-18

{=Mih &
{if} Write down (he largest inleger thet satifies 5x— 1< 10.

{ii) I
(b} Soive.
X =75
{b) x - 12
() Solve.
Ax+3y=5
ZX+ f=3

Same as Q18 on
draft SAMs

fchx=




18 Here are the inlersst retes for o accounts A end B.

Accounl A Accounl B
Interast: Interes
3.5% per year compound 4% for the first year,
inberesL 3.5% Tor the second year
and
3% for the third year.
Mo withdrewals unti the Withdrawals aliowad &l
End of thres years. any time.

DCerrick has £10000 hewants i imvast.

{a) Calcuiate which account would ghve him most money if Ne iNvests his money Tor 3 years.
Give the diference in the intanasi o Me nearest panmny.

Same as Q19 on
draft SAMs

{a) Account by . pIE

{b) Explainwhy he might not want I Use ACCountA.




19 In the giagram beiow, AE end BD are straight lines.
The length BC i 12m.
The ratio BC D= 3:1.

A

Not to scale

{a) Show that riangles ABC and EDC are simiar.

13

{b} The lenglh DE s 3.5m.

Find the length AB.

Same as Q20 on
draft SAMs




THE FOLLOWING HAVE BEEN REMOVED:

{a) Here are the first four numbers of a sequence.
12 19 26 33

‘Write down the next number in the seguence.

{B) e

{b) The nth term of another sequence is 2n + 5.

Write down the first three terms of this sequence.

1)

1

13
13 A straight line has gradient -2 and passes through the point (3, 4).

Find the equation of the line.




